BID OPENING DATE: BID OPENING LOCATION: TABULATION BY; TABULATION DATE: LJA JOB NO. CONSTRUCTION OF PAVING AND APPURTENANCES
TO SERVE SAMARA SECTION 11 & SAMARA WAY
GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73
CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS
MAY 3, 2024
LJA ENGINEERING, INC.
C CORTEZ
MAY 6, 2024
0386-3111B (9.2)

TOTAL AMOUNT BID

BIDDER'S NAME

1) HCG

2) DACO PAVING, INC.

3) PRECISE SERVICES INC.

4) R CONSTRUCTION CIVIL, LLC

\$1,172,725.24

\$1,257,000.00

\$1,297,346.60

\$1,364,019.50

CALENDAR DAYS 55/70

S. JAMES J. POTTHARST

132287

CENSIONAL

I, JAMES POTTHARST, P.E. hereby certify these bid tabulations to be true and correct.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF PAVING AND APPURTENANCES
TO SERVE SAMARA SECTION 11 & SAMARA WAY
GALVESTON COUNTY WUNICIPAL UTILITY DISTRICT NO. 73
CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS
MAY 3, 2024
LJA ENGINEERING, INC.
C CORTEZ

MAY 6, 2024

0386-3111B (9.2)

20,1002,110.			(0.2)					
		1) HCG		2) DACO PAVING, INC.		3) PRECISE SERVICES INC.		
ITEM DESCRIPTION	UNIT	QTY	UNIT COST T	OTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
SAMARA SECTION 11 PAVING AND APPURTENANCES ITEMS								
1 6" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	11545	\$46.95	\$542,037.75	\$52.50	\$606,112.50	\$53.10	\$613,039.50
2 6" LIME STABILIZED SUBGRADE MANIPULATION, INCLUDES COMPACTION TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	SY	13017	\$4.60	\$59,878.20	\$4.60	\$59,878.20	\$4.50	\$58,576.50
3 10% LIME BY WEIGHT, 50LB/SY FOR SUBGRADE, QUANTITY TO BE PAID ONLY FOR FIELD LAB RECOMMENDED QUANTITY, COMPLETE IN PLACE	TON	325	\$341.25	\$110,906.25	\$360.00	\$117,000.00	\$340.00	\$110,500.00
4 6° REINFORCED CONCRETE CURB, AS INDICATED ON PLANS, COMPLETE IN PLACE	LF	6623	\$3.95	\$26,160.85	\$4.35	\$28,810.05	\$4.70	\$31,128.10
5 FINAL LOT GRADING, INCLUDING STRIPPING AND PROOFROLLING, HAULING, PLACEMENT AND COMPACTION OF MATERIALS AND REPLACEMENT OF STRIPPINGS, COMPLETE IN PLACE	EA	61	\$294.00	\$17,934.00	\$210.00	\$12,810.00	\$300.00	\$18,300.00
6 ADA RAMPS (TYPE 4), INCLUDING TRUNCATED DOME BRICKS TO BE ADA RED, INCLUDES REMOVAL OF EXISTING CURB IF REQUIRED AND ALL OTHER APPURTENANCES, COMPLETE IN PLACE	EA	22	\$1,990.00	\$43,780.00	\$1,500.00	\$33,000.00	\$1,750.00	\$38,500.00
7 4" SQUARE DOUBLE REFLECTORIZED BLUE TRAFFIC BUTTONS FOR FIRE HYDRANT LOCATION, COMPLETE IN PLACE	EA	8	\$17.00	\$136.00	\$20.00	\$160.00	\$20.00	\$160.00
8 24" SOD STRIPING ALONG BACK OF CURB, COMPLETE IN PLACE	LF	6623	\$2.25	\$14,901.75	\$2.00	\$13,246.00	\$2.00	\$13,246.00
9 TYPE III BARRICADE, ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	EA	1	\$1,335.00	\$1,335.00	\$1,500.00	\$1,500.00	\$1,400.00	\$1,400.00
10 REMOVE AND RELOCATE OF TYPE III BARRICADE, ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	EA	1	\$1,290.00	\$1,290.00	\$1.00	\$1.00	\$100.00	\$100.00
11 PAVING HEADER, COMPLETE IN PLACE	LF	56	\$19.00	\$1,064.00	\$15.00	\$840.00	\$30.00	\$1,680.00
12 6" P.V.C. SCHEDULE 40 IRRIGATION SLEEVES, COMPLETE IN PLACE	LF	191	\$42.45	\$8,107.95	\$55.00	\$10,505.00	\$52.50	\$10,027.50
SAMARA SECTION 11 PAVING AND APPURTENANCES ITEMS SUBTOTAL: SAMARA WAY PAVING AND APPURTENANCES ITEMS				\$827,531.75		\$883,862.75		\$896,657.60
1 7" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	2284	\$51.90	\$118,539.60	\$61.00	\$139,324.00	\$64.00	\$146,176.00
2 6" LIME STABILIZED SUBGRADE MANIPULATION, INCLUDES COMPACTION TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	SY	2474	\$4.60	\$11,380.40	\$4.60	\$11,380.40	\$4.50	\$11,133.00
3 10% LIME BY WEIGHT, 50LB/SY FOR SUBGRADE, QUANTITY TO BE PAID ONLY FOR FIELD LAB RECOMMENDED QUANTITY, COMPLETE IN PLACE	TON	62	\$341.25	\$21,157.50	\$360.00	\$22,320.00	\$340.00	\$21,080.00
4 6" REINFORCED CONCRETE CURB, AS INDICATED ON PLANS, COMPLETE IN PLACE	LF	856	\$3.95	\$3,381.20	\$4.35	\$3,723.60	\$4.70	\$4,023.20
5 ADA RAMPS (TYPE 4), INCLUDING TRUNCATED DOME BRICKS TO BE ADA RED, INCLUDES REMOVAL OF EXISTING CURB IF REQUIRED AND ALL OTHER APPURTENANCES, COMPLETE IN PLACE	EA	2	\$1,990.00	\$3,980.00	\$1,600.00	\$3,200.00	\$1,750.00	\$3,500.00
6 4" SQUARE DOUBLE REFLECTORIZED BLUE TRAFFIC BUTTONS FOR FIRE HYDRANT LOCATION, COMPLETE IN PLACE	EA	1	\$17.00	\$17.00	\$20.00	\$20.00	\$20.00	\$20.00
7 24" SOD STRIPING ALONG BACK OF CURB, COMPLETE IN PLACE	LF	856	\$2.30	\$1,968.80	\$2.00	\$1,712.00	\$2.00	\$1,712.00
8 REMOVE AND RELOCATE OF TYPE III BARRICADE, ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	EA	1	\$1,290.00	\$1,290.00	\$1.00	\$1.00	\$100.00	\$100.00
9 PAVING HEADER, COMPLETE IN PLACE	LF	28	\$19.00	\$532.00	\$15.00	\$420.00	\$30.00	\$840.00

FRN F-1386

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF PAVING AND APPURTENANCES TO SERVE SAMARA SECTION 11 & SAMARA WAY
GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73 CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS MAY 3, 2024 LJA ENGINEERING, INC. C CORTEZ MAY 6, 2024

		-	()					
	,		1) HC0		•	2) DACO PAVING, INC.		RVICES INC.
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
10 6" P.V.C. SCHEDULE 40 IRRIGATION SLEEVES, COMPLETE IN PLACE	LF	92	\$42.45	\$3,905.40	\$55.00	\$5,060.00	\$52.50	\$4,830.00
SAMARA WAY PAVING AND APPURTENANCES ITEMS SUBTOTAL:				\$166,151.90		\$187,161.00		\$193,414.20
MISCELLANEOUS PAVING AND APPURTENANCES ITEMS								
1 PERMANENT TRAFFIC CONTROL DEVICES, INCLUDING TRAFFIC BUTTONS PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, STOP SIGNS, STREET SIGNS, AND ALL OTHER TRAFFIC SIGNS SHOWN IN PLANS, ETC., COMPLETE IN PLACE	LS	1	\$40,950.00	\$40,950.00	\$9,800.00	\$9,800.00	\$43,000.00	\$43,000.00
2 MISCELLANEOUS DRAINAGE SWALES, V-BOTTOM, GRADED TO DRAIN, INCLUDES HYDROMULCH SEEDING AND WATERING, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	LF	3000	\$3.20	\$9,600.00	\$3.05	\$9,150.00	\$3.00	\$9,000.00
3 REMOVAL AND OFFSITE DISPOSAL OF EXISTING GRAVEL ROAD, AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	SY	622	\$9.45	\$5,877.90	\$17.00	\$10,574.00	\$6.15	\$3,825.30
4 OVER EXCAVATION OF UNSUITABLE MATERIAL FOR FILL PLACEMENT, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE	CY	1000	\$4.40	\$4,400.00	\$4.50	\$4,500.00	\$2.00	\$2,000.00
5 DEMUCK, SCARIFY, AND FILL EXISTING DRAINAGE SWALES, AS NEEDED, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE	LF	3515	\$4.40	\$15,466.00	\$3.80	\$13,357.00	\$2.00	\$7,030.00
6 COMMON ROADWAY AND SECTION EXCAVATION TO BE HAULED, STRIPPED, PLACED, AND COMPACTED TO 95% STANDARD PROCTOR DENSITY ON-SITE FOR LOT AND ROADWAY FILL, AS DIRECTED BY ENGINEER, IN ACCORDANCE WITH SUPPLEMENTAL CONDITIONS I	CY	9787	\$3.15	\$30,829.05	\$6.00	\$58,722.00	\$5.50	\$53,828.50
7 CITY OF LEAGUE CITY INSPECTOR OVERTIME CHARGE, TO BE APPROVED BY THE ENGINEER, COMPLETE IN PLACE	HR	10	\$50.00	\$500.00	\$50.00	\$500.00	\$50.00	\$500.00
8 AS-BUILT SURVEY OF FILL AREAS (CERTIFIED TOPOGRAPHIC SURVEY BY RPLS, INCLUDING ALL GRADE BREAKS, INCLUDED 3D CAD FORMAT BEFORE FINAL PAYMENT IS MADE), COMPLETE IN PLACE	LS	O/	\$6,830.00	\$6,830.00	\$5,500.00	\$5,500.00	\$8,100.00	\$8,100.00
9 INSTALLATION AND REMOVAL UPON COMPLETION OF CONCRETE WASHOUT AREA, COMPLETE IN PLACE	EA	1	\$1,990.00	\$1,990.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
10 INSTALLATION, MAINTENANCE AND REMOVAL OF STABILIZED CONSTRUCTION EXIT, SWMHCA SPECIFICATION NO. 4711, INCLUDES INSTALLATION AND REMOVAL (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	1	\$1,100.00	\$1,100.00	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00
11 EXTRA CEMENT STABILIZED SAND, TO BE USED ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	CY	200	\$28.50	\$5,700.00	\$20.00	\$4,000.00	\$20.00	\$4,000.00
12 METHOD "A" CONSTRUCTION STAKING BY THE CONTRACTOR, COMPLETE IN PLACE	LS	1	\$9,685.00	\$9,685.00	\$7,000.00	\$7,000.00	\$11,500.00	\$11,500.00
13 OVERFLOW SWALE, PER GRADING PLAN, 10' BOTTOM WIDTH, COMPLETE IN PLACE	LF	209	\$16.00	\$3,344.00	\$9.20	\$1,922.80	\$30.00	\$6,270.00
14 REMOVE AND DISPOSE OF ALL-WEATHER ACCESS ROAD, INCLUDES 8" CRUSHED CONCRETE, 6" STABILIZED SUBGRADE, AND GEOTEXTILE FABRIC, AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	SY	1511	\$7.80	\$11,785.80	\$18.00	\$27,198.00	\$12.00	\$18,132.00
15 REMOVE AND DISPOSE OF 18" C.M.P. STORM SEWER, AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	61	\$19.00	\$1,159.00	\$10.00	\$610.00	\$45.00	\$2,745.00
16 8" CRUSHED CONCRETE FOR 16-FOOT ALL-WEATHER ACCESS ROAD, PER DETAIL, COMPLETE IN PLACE	SY	168	\$35.00	\$5,880.00	\$35.00	\$5,880.00	\$53.00	\$8,904.00

0386-3111B (9.2)

FRN F-1386 Page 3 of 7 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF PAVING AND APPURTENANCES
TO SERVE SAMARA SECTION 11 & SAMARA WAY
GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73
CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS
MAY 3, 2024
LJA ENGINEERING, INC.
C CORTEZ
MAY 6, 2024
0386-3111B (9.2)

			1) HCG		2) DACO PAVING, INC.		3) PRECISE SERVICES INC.		
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
INCLUDES	IZED SUBGRADE MAIPULATION FOR 16' ALL-WEATHER ACCESS ROAD, S COMPACTION TO 95% STANDARD PROCTOR DENSITY AND TILE FABRIC, PER DETAIL, COMPLETE IN PLACE	SY	190	\$4.50	\$855.00	\$6.75	\$1,282.50	\$4.50	\$855.00
ROAD, QL	BY WEIGHT, 50 LB/SY FOR SUBGRADE, FOR 16' ALL-WEATHER ACCESS UANTITY TO BE PAID ONLY FOR FIELD LAB RECOMMENDED QUANTITY, TE IN PLACE	TON	4.75	\$341.25	\$1,620.94	\$360.00	\$1,710.00	\$340.00	\$1,615.00
	VATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDING CTOR BOOKLET, COMPLETE IN PLACE	LS	1	\$1,120.00	\$1,120.00	\$9,462.10	\$9,462.10	\$1,000.00	\$1,000.00
	8" MAILBOX PAD, IN ACCORDANCE WITH SIDEWALK DETAILS FOR ALL IZES AND SPACINGS, AS DIRECTED BY THE ENGINEER, COMPLETE IN	EA	1	\$2,080.00	\$2,080.00	\$1,820.00	\$1,820.00	\$2,250.00	\$2,250.00
	8" MAILBOX PAD, IN ACCORDANCE WITH SIDEWALK DETAILS FOR ALL IZES AND SPACINGS, AS DIRECTED BY THE ENGINEER, COMPLETE IN	EA	1	\$2,210.00	\$2,210.00	\$2,010.00	\$2,010.00	\$2,650.00	\$2,650.00
	8° MAILBOX PAD, IN ACCORDANCE WITH SIDEWALK DETAILS FOR ALL IZES AND SPACINGS, AS DIRECTED BY THE ENGINEER, COMPLETE IN	EA	1	\$2,460.00	\$2,460.00	\$2,400.00	\$2,400.00	\$3,150.00	\$3,150.00
	8° MAILBOX PAD, IN ACCORDANCE WITH SIDEWALK DETAILS FOR ALL IZES AND SPACINGS, AS DIRECTED BY THE ENGINEER, COMPLETE IN	EA	1	\$2,570.00	\$2,570.00	\$2,610.00	\$2,610.00	\$3,550.00	\$3,550.00
INCLUDIN	IE SWALES, 4:1 SIDE SLOPES, V-BOTTOM, GRADED TO DRAIN, IG HYDROMULCH AND WATERING, AS DIRECTED BY THE ENGINEER, TE IN PLACE	LF	1137	\$9.70	\$11,028.90	\$3.05	\$3,467.85	\$10.00	\$11,370.00
MISCELLANEOL	US PAVING AND APPURTENANCES ITEMS SUBTOTAL:		41		\$179,041.59		\$185,976.25		\$207,274.80
BIDDING SUMM	IARY								
SUBTOTAL SAM	MARA SECTION 11 PAVING AND APPURTENANCES ITEMS				\$827,531.75		\$883,862.75		\$896,657.60
SUBTOTAL SAM	MARA WAY PAVING AND APPURTENANCES ITEMS				\$166,151.90		\$187,161.00		\$193,414.20
SUBTOTAL MISC	CELLANEOUS PAVING AND APPURTENANCES ITEMS				\$179,041.59		\$185,976.25		\$207,274.80
TOTAL AMOUNT	T BASE BID				\$1,172,725.24		\$1,257,000.00		\$1,297,346.60

Page 4 of 7 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF PAVING AND APPURTENANCES
TO SERVE SAMARA SECTION 11 & SAMARA WAY
GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73
CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS
MAY 3, 2024
LJA ENGINEERING, INC.
C CORTEZ
MAY 6, 2024

4) R CONSTRUCTION CIVIL, LLC

0386-3111B (9.2)

				4) R CONSTRUCTIO	N CIVIL, LLC						
ITEM DE	ESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST						
SAMARA SECTION 11 PAVING AND APPUR	RTENANCES ITEMS										
1 6" REINFORCED CONCRETE PAVEME	ENT, COMPLETE IN PLACE	SY	11545	\$57.00	\$658,065.00						
2 6" LIME STABILIZED SUBGRADE MAN STANDARD PROCTOR DENSITY, COI	IIPULATION, INCLUDES COMPACTION TO 95% MPLETE IN PLACE	SY	13017	\$5.00	\$65,085.00						
3 10% LIME BY WEIGHT, 50LB/SY FOR FOR FIELD LAB RECOMMENDED QUA	SUBGRADE, QUANTITY TO BE PAID ONLY ANTITY, COMPLETE IN PLACE	TON	325	\$350.00	\$113,750.00						
4 6" REINFORCED CONCRETE CURB, A PLACE	AS INDICATED ON PLANS, COMPLETE IN	LF	6623	\$4.00	\$26,492.00						
5 FINAL LOT GRADING, INCLUDING ST PLACEMENT AND COMPACTION OF I STRIPPINGS, COMPLETE IN PLACE	RIPPING AND PROOFROLLING, HAULING, MATERIALS AND REPLACEMENT OF	EA	61	\$230.00	\$14,030.00						
6 ADA RAMPS (TYPE 4), INCLUDING TF INCLUDES REMOVAL OF EXISTING O APPURTENANCES, COMPLETE IN PL		EA	22	\$2,100.00	\$46,200.00						
7 4" SQUARE DOUBLE REFLECTORIZE HYDRANT LOCATION, COMPLETE IN		EA	8	\$15.00	\$120.00						
8 24" SOD STRIPING ALONG BACK OF	CURB, COMPLETE IN PLACE	LF	6623	\$2.00	\$13,246.00						
9 TYPE III BARRICADE, ONLY AS DIRECT PLACE	CTED BY THE ENGINEER, COMPLETE IN	EA	1	\$1,200.00	\$1,200.00						
10 REMOVE AND RELOCATE OF TYPE II ENGINEER, COMPLETE IN PLACE	II BARRICADE, ONLY AS DIRECTED BY THE	EA	1	\$1.00	\$1.00						
11 PAVING HEADER, COMPLETE IN PLA	CE	LF	56	\$30.00	\$1,680.00						
12 6" P.V.C. SCHEDULE 40 IRRIGATION	SLEEVES, COMPLETE IN PLACE	LF	191	\$63.00	\$12,033.00						
SAMARA SECTION 11 PAVING AND APPURTENANCES ITEMS SUBTOTAL: \$951,902.00											
SAMARA WAY PAVING AND APPURTENAN	ICES ITEMS										
1 7" REINFORCED CONCRETE PAVEME	ENT, COMPLETE IN PLACE	SY	2284	\$70.00	\$159,880.00						
2 6" LIME STABILIZED SUBGRADE MAN STANDARD PROCTOR DENSITY, COI	IIPULATION, INCLUDES COMPACTION TO 95% MPLETE IN PLACE	SY	2474	\$5.00	\$12,370.00						
3 10% LIME BY WEIGHT, 50LB/SY FOR FOR FIELD LAB RECOMMENDED QUA	SUBGRADE, QUANTITY TO BE PAID ONLY ANTITY, COMPLETE IN PLACE	TON	62	\$350.00	\$21,700.00						
4 6" REINFORCED CONCRETE CURB, A PLACE	AS INDICATED ON PLANS, COMPLETE IN	LF	856	\$4.00	\$3,424.00						
5 ADA RAMPS (TYPE 4), INCLUDING TE INCLUDES REMOVAL OF EXISTING O APPURTENANCES, COMPLETE IN PL		EA	2	\$2,750.00	\$5,500.00						
6 4" SQUARE DOUBLE REFLECTORIZE HYDRANT LOCATION, COMPLETE IN		EA	1	\$15.00	\$15.00						
7 24" SOD STRIPING ALONG BACK OF	CURB, COMPLETE IN PLACE	LF	856	\$2.00	\$1,712.00						
8 REMOVE AND RELOCATE OF TYPE II ENGINEER, COMPLETE IN PLACE	II BARRICADE, ONLY AS DIRECTED BY THE	EA	1	\$1.00	\$1.00						
9 PAVING HEADER, COMPLETE IN PLA	CE	LF	28	\$30.00	\$840.00						

 Page 5 of 7
 FRN F-1386

 LIA Engineering, Inc.

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF PAVING AND APPURTENANCES
TO SERVE SAMARA SECTION 11 & SAMARA WAY
GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73
CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS
MAY 3, 2024
LJA ENGINEERING, INC.
C CORTEZ
MAY 6, 2024

4) R CONSTRUCTION CIVIL, LLC

0386-3111B (9.2)

				4) R CONSTRUCTIO	ON CIVIL, LLC			
ITE	M DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST			
10	6" P.V.C. SCHEDULE 40 IRRIGATION SLEEVES, COMPLETE IN PLACE	LF	92	\$63.00	\$5,796.00			
SAMARA WAY PAVING AND APPURTENANCES ITEMS SUBTOTAL: ### S211,238.00 ### S211,238.00 ### S211,238.00 ### S211,238.00 ### PAVEMENT TRAFFIC CONTROL DEVICES, INCLUDING TRAFFIC BUTTONS LS 1 \$36,000.00 PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, STOP SIGNS, STREET SIGNS, AND ALL OTHER TRAFFIC SIGNS SHOWN IN PLANS, ETC.,								
	CELLANEOUS PAVING AND APPURTENANCES ITEMS				\$211,230.00			
	PERMANENT TRAFFIC CONTROL DEVICES, INCLUDING TRAFFIC BUTTONS PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, STOP SIGNS, STREET SIGNS, AND ALL OTHER TRAFFIC SIGNS SHOWN IN PLANS, ETC., COMPLETE IN PLACE	LS	1	\$36,000.00	\$36,000.00			
:	2 MISCELLANEOUS DRAINAGE SWALES, V-BOTTOM, GRADED TO DRAIN, INCLUDES HYDROMULCH SEEDING AND WATERING, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	LF	3000	\$3.00	\$9,000.00			
;	3 REMOVAL AND OFFSITE DISPOSAL OF EXISTING GRAVEL ROAD, AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	SY	622	\$12.00	\$7,464.00			
•	4 OVER EXCAVATION OF UNSUITABLE MATERIAL FOR FILL PLACEMENT, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE	CY	1000	\$2.00	\$2,000.00			
	DEMUCK, SCARIFY, AND FILL EXISTING DRAINAGE SWALES, AS NEEDED, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE	LF	3515	\$5.00	\$17,575.00			
(S COMMON ROADWAY AND SECTION EXCAVATION TO BE HAULED, STRIPPED, PLACED, AND COMPACTED TO 95% STANDARD PROCTOR DENSITY ON-SITE FOR LOT AND ROADWAY FILL, AS DIRECTED BY ENGINEER, IN ACCORDANCE WITH SUPPLEMENTAL CONDITIONS I	CY	9787	\$5.00	\$48,935.00			
-	7 CITY OF LEAGUE CITY INSPECTOR OVERTIME CHARGE, TO BE APPROVED BY THE ENGINEER, COMPLETE IN PLACE	HR	10	\$50.00	\$500.00			
;	3 AS-BUILT SURVEY OF FILL AREAS (CERTIFIED TOPOGRAPHIC SURVEY BY RPLS, INCLUDING ALL GRADE BREAKS, INCLUDED 3D CAD FORMAT BEFORE FINAL PAYMENT IS MADE), COMPLETE IN PLACE	LS		\$5,000.00	\$5,000.00			
9	INSTALLATION AND REMOVAL UPON COMPLETION OF CONCRETE WASHOUT AREA, COMPLETE IN PLACE	EA	1	\$1,000.00	\$1,000.00			
10	D INSTALLATION, MAINTENANCE AND REMOVAL OF STABILIZED CONSTRUCTION EXIT, SWMHCA SPECIFICATION NO. 4711, INCLUDES INSTALLATION AND REMOVAL (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	1	\$1,000.00	\$1,000.00			
1	EXTRA CEMENT STABILIZED SAND, TO BE USED ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	CY	200	\$45.00	\$9,000.00			
13	2 METHOD "A" CONSTRUCTION STAKING BY THE CONTRACTOR, COMPLETE IN PLACE	LS	1	\$5,000.00	\$5,000.00			
13	OVERFLOW SWALE, PER GRADING PLAN, 10' BOTTOM WIDTH, COMPLETE IN PLACE	LF	209	\$10.00	\$2,090.00			
14	FREMOVE AND DISPOSE OF ALL-WEATHER ACCESS ROAD, INCLUDES 8° CRUSHED CONCRETE, 6° STABILIZED SUBGRADE, AND GEOTEXTILE FABRIC, AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	SY	1511	\$12.00	\$18,132.00			
1	REMOVE AND DISPOSE OF 18" C.M.P. STORM SEWER, AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	61	\$20.00	\$1,220.00			
10	8° CRUSHED CONCRETE FOR 16-FOOT ALL-WEATHER ACCESS ROAD, PER DETAIL, COMPLETE IN PLACE	SY	168	\$30.00	\$5,040.00			

Page 6 of 7 FRN F-1386
LIA Engineering, Inc.

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF PAVING AND APPURTENANCES
TO SERVE SAMARA SECTION 11 & SAMARA WAY
GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73
CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS
MAY 3, 2024
LJA ENGINEERING, INC.
C CORTEZ
MAY 6, 2024
0386-3111B (9.2)

4) R CONSTRUCTION CIVIL, LLC

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
17	6° STABILIZED SUBGRADE MAIPULATION FOR 16° ALL-WEATHER ACCESS ROAD, INCLUDES COMPACTION TO 95% STANDARD PROCTOR DENSITY AND GEOTEXTILE FABRIC, PER DETAIL, COMPLETE IN PLACE	SY	190	\$15.00	\$2,850.00
18	10% LIME BY WEIGHT, 50 LB/SY FOR SUBGRADE, FOR 16' ALL-WEATHER ACCESS ROAD, QUANTITY TO BE PAID ONLY FOR FIELD LAB RECOMMENDED QUANTITY, COMPLETE IN PLACE	TON	4.75	\$350.00	\$1,662.50
19	STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDING CONTRACTOR BOOKLET, COMPLETE IN PLACE	LS	1	\$1,000.00	\$1,000.00
20	15° X 8° X 8° MAILBOX PAD, IN ACCORDANCE WITH SIDEWALK DETAILS FOR ALL REBAR SIZES AND SPACINGS, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	EA	1	\$5,000.00	\$5,000.00
21	18° X 8° X 8° MAILBOX PAD, IN ACCORDANCE WITH SIDEWALK DETAILS FOR ALL REBAR SIZES AND SPACINGS, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	EA	1	\$5,150.00	\$5,150.00
22	21° X 8" X 8" MAILBOX PAD, IN ACCORDANCE WITH SIDEWALK DETAILS FOR ALL REBAR SIZES AND SPACINGS, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	EA	1	\$6,350.00	\$6,350.00
23	24° X 8" X 8" MAILBOX PAD, IN ACCORDANCE WITH SIDEWALK DETAILS FOR ALL REBAR SIZES AND SPACINGS, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	EA	1	\$6,500.00	\$6,500.00
24	DRAINAGE SWALES, 4:1 SIDE SLOPES, V-BOTTOM, GRADED TO DRAIN, INCLUDING HYDROMULCH AND WATERING, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	LF	1137	\$3.00	\$3,411.00

MISCELLANEOUS PAVING AND APPURTENANCES ITEMS SUBTOTAL:

BIDDING SUMMARY

SUBTOTAL SAMARA SECTION 11 PAVING AND APPURTENANCES ITEMS
SUBTOTAL SAMARA WAY PAVING AND APPURTENANCES ITEMS
SUBTOTAL MISCELLANEOUS PAVING AND APPURTENANCES ITEMS
TOTAL AMOUNT BASE BID

\$200,879.50

\$951,902.00 \$211,238.00 \$200.879.50

\$1,364,019.50

 Page 7 of 7
 FRN F-1386

 LJA Engineering, Inc.